D YN
MULTIPLE MODULES o
ACCEPTABLE MULLION SPAN ' U §§
MULLION SPAN HORIZONTAL m [
MULLION A
HORIZONTAL =
MULLION \ r4 Rz
ANDERSEN CORP. ANDERSEN CORP. N O - 2|3
WINDOW WINDOW — VERTICAL - Al
/o SEE SEPARATE SEE SEPARATE MULLIO = u ol
MULTIPLE MODULES 2 APEEOVAL APPROVAL N », g s &2
ACCEPTABLE o s s \ v/ pl =
v, o 7 \ ANDERSEN - CORP. S gl
‘y ‘s ‘s ) WINDOW O = ]
i SEE SEPARATE (I 3|
APPROVAL o 1
Q5
0z =
— VERTICAL o
MULLION > Ofumg
VERTICAL = Qo<
MULLION & VERTICAL XIS 2 3 g
> MULLION @ OE 3§
S TR
3 CUEE g
/s S /o s /s o 2 o s /s LzP<8|
i s/ 7/ Z 7/ s/ s/ e s/ e _:! Gz : i
= 7 e e I3F e e ./ e /. e <zw§ ]
s S Ve 3% S Ve e S Ve S wez -
‘s 7y 3 = [ s 7 7, 7 7 b \“"j
ANDERSEN CORP. ANDERSEN CORP. ANDERSEN CORP. ANDERSEN CORP. ANDERSEN CORP. ANDERSEN CORP. ANDERSEN CORP. =
WINDOW,/DOOR WINDOW,/DOOR WINDOW,/DOOR WINDOW,/DOOR WINDOW/DOOR WINDOW,/DOOR WINDOW,/DOOR o
SEE SEPARATE SEE SEPARATE SEE SEPARATE SEE SEPARATE SEE SEPARATE SEE SEPARATE SEE SEPARATE 2 6
APPROVAL APPROVAL APPROVAL APPROVAL APPROVAL APPROVAL APPROVAL = !2 L2
5EE T~
> O5 Lo
n o zs %
x O
5§ 948
510z2° -
S zcxz8&
= )
W g
MULLION SPAN N & S
| O X =
TYPICAL MULLION ARRANGEMENT HORIZONTAL W28
MULLION wilZz8 %
— o
NARROW STEEL MULLION SYSTEM ANDERSEN CORP. % f e
WINDOW FRAME MEMBERS INCLUDED IN PROPERTIES SI;:E SEP%WR;\/TE e ®
DESIGN LOAD RATING FOR THIS MULLION TO BE AS PER CHARTS APPROVAL < E
SHOWN ON SHEETS 4 AND 5.
MULLION SYSTEM IS RATED FOR LARGE MISSILE IMPACT. . A
APPROVAL APPLIES TO MULLIONS COMBINATIONS WITH FRAME MEMBERS OF AND CAN BE USED WITH ALL F.B.C. APPROVED e —
ANDERSEN CORPORATION WINDOW AND DOORS IN ANY COMBINATIONS IMPACT AND NON—IMPACT RESISTANT PRODUCTS.
SEE SHEET 2 FOR WINDOW FRAME MEMBER DETAILS.
SEE SHEET 3 FOR DOOR FRAME MEMBER DETAILS. < VERTICAL =~ VERTICAL
MULLION MULLION
SEE SEPARATE APPROVAL FOR WINDOW/DOOR ANCHORS AND DESIGN LOAD CAPACITY. P p p
7 e e
LOWEST VALUE RESULTING FROM MULLION, WINDOW OR DOOR APPROVAL f’/ 2/ 2/ c
WILL APPLY TO ENTIRE SYSTEM. /// {/ /{/ o=
7, ’//. z, 8
THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE 2
REQUIREMENTS OF THE FLORIDA BUILDING CODE INCLUDING HIGH VELOCITY A oo ANDERSEN CORP. ANDERSEN CORP. o
/DOOR WINDOW,/DOOR WINDOW /DOOR
HURRICANE ZONE (HVHZ). SEE SEPARATE SEE SEPARATE SEE SEPARATE B
ALL GLAZING PRODUCTS USED WITH THESE MULLIONS MUST MEET THE APPROVAL APPROVAL APPROVAL “
APPLICABLE BUILDING CODE REQUIREMENTS [E: WIND LOAD, WATER cle
INFILTRATION, FORCED ENTRY RESISTANCE, SAFEGUARDS ETC. Fi
A— THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) PREPARED BY THIS ENGINEER >
XVC())AODg ?g%ﬁSE g-iY.RSg?UE?ES' MUST BE ANCHORED PROPERLY TO TRANSFER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC g 8
: PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D. C P —
ANCHORS SHALL BE AS LISTED, SPACED AS SHOWN ON DETAILS, EMBEDMENT B— CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND ol B \r
TO BASE MATERIAL SHALL BE BEYOND WALL COVERING (STUCCO, TILE ETC.), INSTALLATION OF THIS PRODUCT BASED ON THIS PRODUCT EVALUATION T H Al “i H
PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED o ’g ‘I_I !2 o
ANCHORING CONDITIONS OTHER THAN THOSE SHOWN IN THESE DETAILS ON THIS DOCUMENT. T 2 |
ARE NOT PART OF THIS APPROVAL. C— THIS PRODUCT EVALUATION DOCUMENT WILL BE CONSIDERED INVALID IF st ;I =
ALTERED BY ANY MEANS. ) Jj i i; o B
A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY. D- SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED £ ;E k] e ti ~
MATERIALS INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS, THAT ENGINEER OR ARCHITECT WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.) 385 )%
COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE ZCS’E EHFE TF’ROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER
REQUIREMENTS OF THE FLORIDA BUILDING CODE. HE FLE.D. ENGINEER OF RECORD, ACTING AS A DELEGATED drawing no
ENGINEER TO THE P.E.D. ENGINEER SHALL SUBMIT TO THIS LATTER THE SITE
MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION SPECIFIC DRAWINGS FOR REVIEW. M15—=03
IN ACCORDANCE WITH SECTION 1710.8.3 OF FLORIDA BUILDING CODE. E- THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF
LABELING TO COMPLY WITH SECTION 1710.8.2. THE PROFESSIONAL ENGINEER OF RECORD THAT PREPARED IT. Sheetifm




i

i

4.125
2.250 j rz969*4

.569

T

3.334 i
<F1.115ﬂ7 T*~4.375—*{

.658 2.942

- [9
1.355

] 1.359 U .6456 — 52 . .
l F I i -5 | 438 —
M [ { !
[ 5 344 2.771 | 2.771 | 4.125
CASEMENT AWNING TILT-WASH DOUBLE HUNG WOODWRIGHT DOUBLE HUNG SPECIALITY DIRECT SET (CTC & CTQC)
FRAME HEAD/SILL FRAME JAMB FRAME HEAD FRAME HEAD/JAMB FRAME SILL
30835 30836 - - 27230
WOoOoD WOOD WOOD WOOD WOOoD
4125 ' 3.196 ’
3.334 ‘ 812
2.250 ‘ 989 .
L ] f* ¢1.115«>l I«1.375~>J ‘7081»8727“ | )
406 ? ' " 0’
] 1.1{09 ~5v55 ' 500
r—— .
" i 750
[ { 2.771 j
844 | 2.344 |
3.352
CASEMENT AWNING TILT—-WASH DOUBLE HUNG TILT-WASH FIXED WOODWRIGHT FIXED SPECIALITY DIRECT SET (CTN)
FRAME JAMB FRAME HEAD/SILL FRAME JAMB FRAME HEAD/SILL/JAMB FRAME HEAD/SILL/JAMB FRAME SILL
30838 30838 - — - 27122
WOoOoD WO0O0D WOOD WOooD WOOoD Wo0oD
| 3.727 |
f 2.942 966 ‘
3.797 I r ”I 1‘080»§ )
719 T 1.360 1294 g3 1.391 Tﬁ}///——_l__j 1.425
. 811 : 705
| g n — ) — _ 1 i LJ
3.844 2.500 4.007
4.125 |
PSNL CASEMENT PICTURE FLEXIFRAME FIXED SPECIALITY DIRECT SET (ET)

FRAME HEAD/SILL/JAMB

WOOoD

1.336
N — 4

FRAME HEAD/SILL/JAMB

WOOD

2.939

|
797

4.121 i

CASEMENT PICTURE (P)

FRAME HEAD/SILL/JAMB

30394
WOOD

FRAME HEAD/SILL/JAMB

WOOoD

FRAME SILL

53103
WOO0D

f
<

MULLION\M15—03AC)

a

FAX. (305) 262-6978 ||

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
1235 S.W. 87 AVE

MIAMI, FLORIDA 33174

TEL. (305) 264-8100

(

|

)
1096 [
FAX (=)

100 FOURTH AVE. NORTH
BAYPORT, MN. 55003—

TEL. (B00) 426-7691

|

W

voersen| ANDERSEN CORPORATION

L NARROW STEEL MULLION SYSTEM

A

)

by [description

(revisions:
(nol date

|

[sheet 2 of 11




5.794 ; 2.655 4.193
- 1.373
A} } f 2.655
929 1.230 -988 ~NL
J1 m/{n é 1.185 “115
445 2.693 4.224 \__*_FK_JE
2.331 |
FWG FWH FWO
GLIDING _DOOR FRAME HEAD HINGED DOOR HEAD/JAMB (OPERATING/STATIONARY) OUTSWING DOOR HEAD/JAMB (OPERATING /STATIONARY)
- 52253 57019
WOOD WOOD WoOD
—1.629 2.087
I (e P
.5v67 } =
.080 1.197
1.359 0854 062
K 7 ' i
s"—z/_lf 673 ?
1979 1,564 ——t——1.349
FWH FWO
HINGED HEAD/JAMB COVER (OPERATING/STATIONARY) OUTSWING HEAD/JAMB COVER (OPERATING/STATIONARY)
52225 57031
FIBERGLASS FIBERGLASS
8.282 X .632 SLOT 8.000 TYP. 188
/‘”-359 2.438 X .938 SLOT
W, = U 4.000
-
o 4.000 TYP. .281
8.000 TYP.
NARROW MULLION
ZINC PLATED STEEL

N\ Fevsoog
W CENS

B
ooooooo

l[,,
IS

)

a

|

f
| €

FAX. (305) 262-6978 L

MULLION\M15—03AC

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.\W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-8100

100 FOURTH AVE. NORTH
BAYPORT, MN. 55003-1096
FAX (=)

TEL. (800) 426-7691

|

W

NARROW STEEL MULLION SYSTEM
NDERSE N1 ANDERSEN CORPORATION

(

)

by [description

(revisions:
nol date

-

drawing no.

M15-03
-




DESIGN LOAD CAPACITY ~ PSF || DESIGN LOAD CAPACITY — PSF || DESIGN LOAD CAPACITY — PSF U\f&)
W/0 INTERMEDIATE HORIZONTALS| |W/0 INTERMEDIATE HORIZONTALS| |W/0 INTERMEDIATE HORIZONTALS mh gc'::)
WINDOW DIMS. EXT. (+) WINDOW DIMS. EXT. (+) WINDOW DIMS. EXT. (+) A
WIDTH (W) [MULL SPAN| INT. (=) WIDTH (W) [MULL SPAN] INT. (=) WIDTH (W) IMULL SPAN] INT. (=) 4 4 5
12" 100.0 12" 100.0 12" 71.6 z O~ 2 8
15" 100.0 15" 85.3 15" 58.0 4 P 4 & EE g3
18" 100.0 18" 72.5 18" 120" 49.0 T Z 7 3 é 5 512
21" 94.2 21" 63.4 21" 42.6 3 o 3 8
24" 85.0 24" 56.7 24" 37.8 = I %
27" 78.0 27" 84" 51.4 27" 34.1 me , =
30" 60" 72.5 30" 47.3 12" 68.0 8 % ~
33" 68.2 33" 44.0 15" 55.1 " w2 o 8 w @ g
36" | 648 36" 41.2 18" 126" 46.5 Qaoxgd
39" 62.0 39" 38.9 21" 40.4 ) g - g
42" 59.8 12" 97.1 24" 35.8 | E i ;% g
45" 58.0 15" 79.1 27" 32.2 Lo ".' 23:{ ‘3 |
48” 56.7 18" 67.2 12" 64.8 - g e d |
12" 100.0 21" 58.7 15" 52.4 LLds ¥
15" 100.0 24" 90" 52.3 18" 132" 44.2 L0 z ,g::fi
18" 95.4 27" 47.4 21" 38.1 prd
21" 84.0 30" 435 24" 33.4 O o
s> = o
24" 75.6 33" 40.4 12" 60.6 L é o
27" 69.1 36” 37.8 15" 48.5 sl o Viogx LT
30" 66" 64.0 12" 90.7 18" 138" 405 "Lz S 3
33" 59.9 15" 73.8 21" 34.8 5 8 Lﬁ! 0
36" 56.7 18" 62.5 24" 30.5 - < . 2
39" 54.0 21" 54.5 12” 55.3 | MULLION SPAN 215 E= T
42" 51.8 24" 96" 48.6 15" 443 L1095 ¢
45" 50.0 27" 44.0 187 144" 37.0 Hpges g
48” 48.6 30” 40.3 21" 31.7 WIDTH (W) = Wi+ W2 % % = % -
12" 100.0 33" 37.3 24" 27.8 2 z | <—o &
15" 100.0 36" 349 e = ®
18" 86.3 12" 85.0 =
21" 75.8 15" 69.1 < 2
24" 68.0 18” ., 58.5 iR
27" 62.0 21" 102 51.0 M
30” 72" 57.3 24" 45.3
33" 53.5 27" 41.0
36" 50.4 30" 37.5
39" 47.8 33" 34.7 <
42" 45.7 12" 80.0 =
45" 44.0 15" 65.0 §
48" 42.5 18" 54.9 3
12" 100.0 21" 108" 47.8 B
15" 92.6 24" 42.5 y
18" 78.8 27" 38.4 s %
21" 69.1 30" 35.1 2|
24" 61.8 12” 75.6 e
27" 56.2 15" 1.3 SO
30" 78" 51.8 18" 51.8
33" 48.2 21 114" 45.1 \CENS,
36" 45.3 24" 40.0
39" 42.9 27" 36.1
42" 40.9 30" 33.0
. sheet 4 of 11




DESIGN LOAD CAPACITY - PSF | | DESIGN LOAD CAPACITY — PSF | | DESIGN LOAD CAPACITY - PSF
WITH INTERMEDIATE HORIZONTALS| [WITH INTERMEDIATE HORIZONTALS| |WITH INTERMEDIATE HORIZONTALS
WINDOW DIMS. EXT. (+) WINDOW DIMS. EXT. (+) WINDOW DIMS. EXT. (4)
WIDTH (W) [MULL SPAN]| INT. (=) WIDTH (W) [MULL SPAN| INT. (=) | [WIDTH (W) [MULL span] INT. (=)
12" 100.0 12" 100.0 12" 71.6
15" 100.0 15" 85.3 15" 57.6
18" 100.0 18" 72.5 18" 120" 48.0
21" 94.2 21" 63.4 21" 41.1
24" 85.0 24" 56.7 24" 36.0
27" 78.0 27" 84" 51.4 27" 32.0
30" 60" 72.5 30" 47.3 12" 65.3
33" 68.2 33" 44.0 15" 52.2
36" 64.8 36" 41.2 18" 126" 43,5
39" 62.0 39" 389 | 21" 37.3
42" 59.8 12" 97.1 24" 32.7
45" 58.0 15" 79.1 27" 29.0
48" 56.7 18" 67.2 12" 59.5
12" 100.0 21" 58.7 15" 47.6
15" 100.0 24" 90" 52.3 18" 132" 39.7
18" 95.4 27" 47.4 21" 34.0
21" 84.0 30" 435 24" 29.8
24" 75.6 33" 40.4 12" 54.4
27" 69.1 36" 37.8 15" 43.6
30" 56" 64.0 12" 90.7 18" 138" 36.3
33" 59.9 15" 73.8 21" 31.1
36" 56.7 18" 62.5 24" 27.2
39” 54.0 21" 54.5 12" 49.7
42" 51.8 24" 96" 48.6 15" 39.8
45" 50.0 27" 44.0 18” 144" 33.2
48" 48.6 30" 40.3 21" 28.4
12" 100.0 33" 37.3 24" 24.9
15" 100.0 36" 34.9
18" 86.3 12" 85.0
21" 75.8 15" 69.1
24" 68.0 18" ) 58.5
27" 62.0 21" 102 51.0
30" 72" 57.3 24" 45.3
33" 53.5 27" 41.0
36" 50.4 30" 37.5
39" 47.8 33" 34.7
42" 45.7 12" 80.0
45" 44.0 15" 65.0
48" 425 18" 54.9
12" 100.0 21" 108" 47.8
15" 92.6 24" 42.5
18" 78.8 27" 38.4
21" 69.1 30" 35.1
24" 61.8 12" 75.6
27" 56.2 15" 61.3
30 78" 51.8 18" 51.8
33" 48.2 21" 114" 45.1
36" 453 24" 39.9
39" 42.9 27" 35.5
42" 40.9 30" 31.9

// //;[
7, Z,
7 7
=z
<C
o
wn
pd
- S
Vs Ve S d
s s/ s/ —J
% % % =3
W1 w2

MULLION SPAN

// s Fe
’, s/ 7/,
7 . 7
7 S /. ™~
” ‘s ;
I}
v
e Lol
e M LpLhg =
SO PRIy
NPiA AL o~
m ]

MULLION SPAN

WIDTH (W) =

2

W1 + W2

:

Q
hu E
35
v 7
\ e
=
®
4 Sé
O g
Fd g3
gz 93
o 3
2
o
£ o gz
i
Q6 ¥ |
02 o |
2wl o
w |
Qu.q'aﬁ
CEPER
£226¢&
rsg o
U3t g
mzm.:g
I—mEv
J88s
LLHdE B
C
C
.
Z
0
== o
i< o
’—“mi—“——/—\
05 1T
(/)ﬂ.zg
RS
£ 0uWw
QIo=w
= < 3
.| = @
2/ ZT s
=Wy~ g
323K 2
biWEo g
Elao_4oe
n Zz9 >
o<
;<*—CD»-
(@] =
m -
x| o ®
<L w
Z| a
z
\/—__.._q
O
N\
[
o
=
o
[
O
(2]
[
o
>N
Na]
glly
Ollo
2|
>
[OXife]
I
C
o || !g{*—\;
.-—H H i
sols
il =il
O EY
Sl s
RS-
“’i;'s[nii‘
CRIR-RINCIE
=8 (s s
I'e TN
drawing no

sheet 5 of 11




#10 X 2—1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 168" 0.C. MAX.

CASEMENT TO CASEMENT AWNING TO AWNING
VERTICAL JOIN HORIZONTAL JOIN

#10 X 2—1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

FLEXIFRAME TO FLEXIFRAME
VERTICAL OR HORIZONTAL JOIN

#10 X 2—1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

FLEXIFRAME TO CIRCLE TOP/QUARTER
VERTICAL OR HORIZONTAL JOIN

#10 X 2-1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

CASEMENT TO AWNING
VERTICAL OR HORIZONTAL JOIN

#10 X 2-1/4" SCREWS
AT 5” FROM HEAD/SILL
AND 16" 0.C. MAX.

CASEMENT TO FLEXIFRAME AWNING TO FLEXIFRAME
HORIZONTAL JOIN VERTICAL JOIN

#10 X 2—1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 18" 0.C. MAX.

CASEMENT TO CASEMENT AWNING TO AWNING
HORIZONTAL JOIN VERTICAL JOIN

#10 X 2-1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

CASEMENT TO FLEXIFRAME AWNING TO FLEXIFRAME
VERTICAL JOIN HORIZONTAL JOIN

|
|
)

f
©

FAX. (305) 262-6978
MULLION\M15—03AC

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W, 87 AVE
MIAMI, FLORIDA 33174

TEL. (308) 264-8100

|
J

J
|

FAX (=)

100 FOURTH AVE. NORTH
BAYPORT, MN. 55003-1096

NARROW STEEL MULLION SYSTEM
anoersen) ANDERSEN CORPORATION
® | TEL. (800) 426-7691

[

|

)

by description

(revisions:
nol date

L sheet 6 ofﬁ




—
Vg
rl‘)
#10 X 2-1/4" SCREWS #10 X 2-1/4" SCREWS m g
#10 X 2-1/4" SCREWS AT 5" FROM HEAD/SILL AT 5" FROM HEAD/SILL /|0
AT 5” FROM HEAD/SILL AND 16" 0.C. MAX. AND 16" 0.C. MAX. =z w|=
AND 16” 0.C. MAX. 6 51z
O §|8
i —J
g: 83
s g
og &
ez 3
06 ¥
02 &
QRYm g
CIRCLE TOP TO AWNING CIRCLE TOP TO CASEMENT Qo <§ ol
HORIZONTAL JOIN HORIZONTAL JOIN OILE <
EL_.0&
Ut g
L % [
P 2ws 0
= OO i
<5Ys ¢ L
|
#10 X 2-1/4" SCREWS o
AT 5" FROM HEAD/SILL Z
AND 16" 0.C. MAX. O 4
= ik o3}
il o
5 EE T~
400 _TWDH WDW TO 400 TWDH WDW s L
VERTICAL JOIN o S Z
Ouiw
400 TWDH WDW TO 400 TWDH PICTURE WDW I % O <>( oo
VERTICAL JOIN g —_— 2
S WE= g
408k
HiWeL o8
— 0 o 9: A
CASMT PICTURE WDW. TO AWNING CASMT PICTURE WDW. TO CASEMENT niz O < A
VERTICAL JOIN HORIZONTAL JOIN = f’: —oF
O = A
& @ ®
< =
Z| a
z
#10 X 2-1/4" SCREWS #10 X 2—1/4" SCREWS P
AT 5" FROM HEAD/SILL AT 5" FROM HEAD/SILL #10 X 2-1/4" SCREWS
AND 18" 0.C. MAX. AND 16” 0.C. MAX. AT 5" FROM HEAD/SILL
- AND 16" 0.C. MAX.
jad
o
o
15}
[
(0]
o
>
Lo
y
cle
Qo
o
CASMT PICTURE WDW. TO AWNING CASMT PICTURE WDW. TO CASEMENT 'gz
HORIZONTAL JOIN VERTICAL JOIN Sle )
=) )
fJ ST
] - - Il
> ff e l
Ny RS
IS
© 1 T s
| e
- ~§U§_!i
‘ B s
G —)
PSNL WDW TO 400 TWDH PICTURE WDW PSNL WDW TO PSNL WDW drawing  no.
VERTICAL JOIN VERTICAL JOIN M15—03
sheet 7 of 11




(oveo-gLN\NOMINW ) (=) xvd  169.-9z¢ (008) 3L| 1 h! B ST L Y
u M 8.69-29€ (SOE) "XV 00T8-+9T (50€) "13L 9601 —500SS ‘N ‘LY¥OdAVS M mz&.m_{?muumaﬁiw ) %
| | PLTEE VAROT TVIN HIYON “3AY HL¥NOS ooé M (S . Rw ©

| C
ANINGOTIAIA LONAOH 78 SHIANIDONT M_ NOLLYHOJYOO NISYIANY resxacy Uondiiosap | Aq | 93pop |oU Mhpw ;NW;M!_HL m - w
e NOILVYOdH0O DOOUVA-TVY ﬁ W3LSAS NOMINW T33LS MOYYVN ( : “mc«o_m_é@ ﬁ S1-62-40 opp| [T = ||

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

HORIZONTAL JOIN

400 TW TO TW TRANSOM

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

HORIZONTAL JOIN

400 TW TO CIRCLE TOP-~NL

#10 X 2—1/2" SCREWS
AT 5” FROM HEAD/SILL
AND 16" 0.C. MAX.

7

PSNL TO CIRCLE TOP-NL
HORIZONTAL JOIN




#10 X 2-1/2" SCREWS
AT 5” FROM HEAD/SILL
AND 16” 0.C. MAX.

FLEXIFRAME /ARCH/SPRINGLINE TO FW GLIDING DOOR
HORIZONTAL JOIN

#10 X 2-1/2" SCREWS

AT 5" FROM HEAD/SILL
ND 16" 0.C. MAX.

FLEXIFRAME /ARCH/SPRINGLINE TO FW GLIDING DOOR
HORIZONTAL JOIN

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

PSCA PICTURE WDW TO FW GLIDING DOOR
HORIZONTAL JOIN

#10 X 2-1/2” SCREWS
AT 5” FROM HEAD/SILL
AND 16" 0.C. MAX.

FLEXIFRAME /ARCH/SPRINGLINE TO _FWH DOOR
HORIZONTAL JOIN

#10 X 2-1/2" SCREWS
AT 5” FROM HEAD/SILL
AND 16” 0.C. MAX.

T

FLEXIFRAME /ARCH/SPRINGLINE TO _FWH DOOR
HORIZONTAL JOIN

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

PSCA PICTURE WDW TO FWH DOOR

HORIZONTAL JOIN

FLEXIFRAME /ARCH/SPRINGLINE TO FWO DOOR
HORIZONTAL JOIN

#10 X 2—1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

FLEXIFRAME /ARCH/SPRINGLINE TO FWO DOOR
HORIZONTAL JOIN

AND 16" 0.C. MAX.

PSCA PICTURE WDW TO FWO DOOR
HORIZONTAL JOIN

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL

o
-------

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

%a

0%

18!

ku 5

M

(o] i

- un

=

z 22

O 88

E=u 92

€= 95
o 8
O e
Lo %
£ o w
05 ¥
P
032 o

Ow
oiﬂ:>28
Qa.<era
O3-F <
Fge.o§

rsg W
usi g

We -~ o
bz,5¢8
2885 |
gErs B
T
—

&
s E_ &
Wi<€<ro
il E <
L1035 LT
(f)ﬂ.zrlo.)é

x O o
ZIOo W
QIOo=W
= T
| -z ©
S5 zxZR®
=TT ©

ns=s, -9
0ok g
il o 3
=0 a2
nizo >

o< 4
;(*’ED;-—
O = B
AEIESNS
< 13
Z|a

=
(AN, 5.
| |
'anYs N
ol
o
=
o
[

(8]

2]

[

o
>
Te)

”
cCil|l®
oI5
0o
S
[O3ike]
e
—
Vs N (\f"""’\
Egz‘—ii H
sl vlle]
Y EL
ST
“;EH$~§ED
Bl
5 8| x|
o @ io I0o
| C——
drawing no.

Lisheet @ of 11)




END BRACKET

1/4" X 5/8"
HEX HEAD BOLT & NUT

| e
I R
| | >

It

TYPICAL ANCHORS
TYPE A, B OR C— ; /
4 PER CLIP

TYPICAL ANCHORS

TYPE A, B OR C
L /4 PER CLIP
1 /

1/4” X 5/8"
HEX HEAD BOLT & NUT

END BRACKET

VERTICAL OR HORIZONTAL
MULLION CONNECTION

e

TYPE ‘A'-

TYPE 'B'-

TYPE 'C'-

$.312

OO/
-

4.250 o 1.500 —=

MULLION END BRACKET

14 GA. ZINC PLATED STEEL

TYPICAL ANCHORS: SEE ELEV. FOR SPACING
#12 SMS OR WOOD SCREWS (GRADE 2 CRS)

INTO 2BY WOOD BUCKS OR WOOD STRUCTURES
1-3/8" MIN. PENETRATION INTO WOOD

3/16" DIA. ULTRACON BY 'ELCO’ (Fu=177 KSI, Fy=155 KsI)

THRU 1BY WOOD BUCKS INTO CONC. OR MASONRY
1—1/4" MIN. EMBED INTO CONC. OR MASONRY
DIRECTLY INTO CONC. OR MASONRY

1—1/4" MIN. EMBED INTO CONC. OR MASONRY

#12 SMS OR SELF DRILLING SCREWS (GRADE 2 CRS)

INTO METAL STRUCTURES

STEEL : 12 GA. MIN. (Fy = 36 KSI MIN.)
ALUMINUM : 1/8” THK. MIN. (6063—T5 MIN.)
(STEEL IN CONTACT WITH ALUMINUM TO BE PLATED OR PAINTED)

TYPICAL EDGE DISTANCE

INTO CONCRETE OR MASONRY = 1-7/8" MIN.
INTO WOOD STRUCTURE = 3/4” MIN.

INTO METAL STRUCTURE = 1/2" MIN.

ANCHORS CL TO CL DISTANCES

INTO CONCRETE AND MASONRY = 1-3/16" MIN.
INTO WOOD STRUCTURE = 3/4” MIN.

INTO METAL STRUCTURE = 3/4" MIN.

CONCRETE AT HEAD, SILL OR JAMBS f'c = 3000 PSI MIN.
C—90 HOLLOW/FILLED BLOCK AT JAMBS f'm = 2000 PS! MIN.

|

)

(revisions:

f
C

MULLION\M15—03AC )

a

FAX. (305) 262-6978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-81.00

|

1
!

BAYPORT, MN. 55003—-1096
FAX (=)

ANDERSEN CORPORATION
100 FOURTH AVE. NORTH
TEL. (800) 426-7691

NARROW STEEL MULLION SYSTEM
®

ANDERSEN|

by [ description

nol date

{

,ksheet 100of 11




ﬁ ‘ 8269292 (S0€) "Xv4 00T8-¥9¢ (S0€) “13L
U PLTEE VAINOTL ‘IAVIN M
h AV L8 ‘M'S SETT | |
INIWGOTINAIA LONAOHd '® SHIINIDNI S

2 || NOILYNOJdNO0D DoOoUV-TV

(ove0-GLW\NOMINW )
m
|
|

“ (=) xvs  16os-9zv (008) TiL| H
* 9601—F00GS 'NW ‘140dAvE

ﬁ HIYON "3IAV HIMNO4 001}

L

:

NOILYHOJHOO NISHIANY rasuzanv]
L uonduosap | Agq | s1o0p |ou
m WILSAS NOITINW 1331S MOMYVYN Em iSUOISIAGI)

.

£
1/4" X 5/8"
HEX HEAD BOLT & NUT

VERT. MULLION CONNECTION TO HORIZONTAL MULLION




